A R [ED [T 58 T WP B (SN C A HiifeH
RFRSEE. BD 271929772 (At - LRSS TI2BT R EE M e + T /20T 2 6 HADM-2)
) i (REY)(HEF)
BHIBR FES Rk ook . z p e N - e :
: = PR |7 6 R 5 OO | 661 BBACHE | 5 (RARRE S TIReTsEe | , - :
z N i g 3% iy @& A i
- T T T T PR — ﬁﬁgﬁ:g@ﬁ:&, (BIATEN T 32 04025 B FFE U5 S0 54 R 8 AT TR T B B R L a1 SR
#H85 (EESHBEERCE /5 4) L
ikt - -
R (FAA| % A # (F 15 ) “ | WAL . FEH S (T SR “ GO R (1 ) i | EW L .
(/%) [KRUES]
(A) (B) (C) = (B/A (D) (E)=(D/A)] (A KG)=(FA (H) (1) = (H/A) () Ky=(ra)[ () [(M)- (/A
= 87.533 (BIREFHIFM A 85543.563 % 8279.116]  9.633% UM GEOTA L - R 104513 1216%| 1@ FAH [T W34 2829% [ wmaw 3792994 44 can | ran
) + 72064 (10K FHBE M LIRS | [ 86
BB cur) + 23,582 (R 1L AHE VERERE) o 4N 10 Y 34
& |mrw MR RMIRE (0FEN
= 183.179 % WARKEANE - 1
& BREMHELES)
L = (56.431+5235) (IR T |* MMM TG (RaT A i - 50 | 4135706  4.8(29, WREOHERT | 766091 0892%]  4i h EEHE R ERH 2028792 23610,
FEB A + AN REARGTH EMIRMRIERG L IR e =
B [(S6.703+57.882) (108 A [PF TR BOFE MY ) <& ARG IR
2 [Femrw) - el L SRR M0 5 (RN
- (53.336+56.76) (/117 B BYM% - 253
E A E)) =333462
= = 604.355 % 56 (PR HH) + FEMTANAR | 7202358 8.380%] W@MRGA A 52414 00614,
#® 0.278 x 3 (F2353548 - 357
& s[RI BEIRER) + 1964
% o |x 2 (EEH) - 7.9%6 (72
B |wnm s
i = 33840656
& Efsfir 1752000 | 2039%| &®&m 968241 11270,
%= = 472652 53 (ARG + WA 145.165| 0.169%| EaW 2768.308]  3.221%
S € g |Lmx2mam-260e
g = | S |mevmmmx £
= 25050.248
ﬂ F? ﬁ (). 24
et = 530.734 1 49 (M) + FEM G 3008 025 3.500%,
2733 x 2 (W) + - FRAT AR
Y 530.827 (66/F) - 6.241 (366 n:;'!lﬂ';l{.lmt:t-g..ﬁ.&
— - [} W) (ERleT A .
¥ ;:E ?ﬁ?ﬁiﬁm LB Tt N T =)
X = 11232 496 aBsuiry 452
BT ETAY
Wi 85943.563 8279.116 | 9.633% 5180826 |  6.028%| f@dl | Faw 12297.118 | 14308%, 126187741 14.683% gnr | rgn
it
LW o EEHRY - 8% (oA - s LIGTRAEME + CF2600F 6% ) ADM-2 133G -
EA(EL) BR2EI AL - HRERAMTT (REV(EE)HE) T4 4% - i Lt S R ReOSIBmE MY Bt - W TR REHEE - e

A REY: AP(A) 76/00
sEfRE & 88 2015721




